LINSY iR axE

] X4 PR B A A T 1) 2

Hoe to Bistinguish the left ang righc

directions of the bed?

H1. FXHERrRE

Figure 1: Installation diagram of

the headboard

B2, AnERrEEL
Figure 2: Schematic diagram of
corner cede installation 1

B3 RRp R T ER
Figure 3: Installation diagram of
bed foot

STEP 1:

figure 1

| —
R EE /Assembly Instruction wiehe [ s‘:; & ))z Lete
: sy &
=& Model NO. BCE69-A# R w %,& ,,%, P
Ranked bed slat specifications “s“ :‘“
PR Specification 1500%2000 (2000#1507) - %l&'%&l
RONIETASOSS
i i 2300#1660+107 (mm i
Roftilfy Conbined size ABERE, AEEFA
] ] ] Lie on the bed, Facing left and right
W fFFE fAccessories list #Mi#F2E Parts List (BT R A)
] — | £ M E :
w, | Ei#fNare B Leon | Be@QTY (07 |y e Specification | QTY M Hnaterial
A REE i3 HAAK R AR R A YR B
4 [Mounting Instruction 1 @ |The head | L660%320%1070 Pine wood + Plywood +
{¥ith dra¥ing ) b of a bed Sponge + Artificial leather
23] B i B AR
B :::gﬁﬁ:ﬁﬁﬁ bolt b (] M | @ |side of | z0z0szs0%110 Pine wood + Elywood +
the bed Sponge + Artificial leather
C [WBtA W8 pad 32 R BB PR AL
@ |The end of | L600%2B0%65 Pine wood + Plywood +
o |- (6esLs LN 380, a 4 the bed Spange + Attificial leather
Corner code —{76+51%51mn) No. 3-0L EAEE
FE 55— (175%175%40mn) 101
E |Corner code —(175%L75%40mm) No. A 4 @ ?Eﬁzg 20001507 A
101 wood bed fate ot
B (ELAB 70+300m) W AR EEA 0L slat
F |Feet —(diameter 70+30mm) Black @ 4
rubber wood feet —0L
HB+A52: 5 BT
5 HB*45 full screw — z
HE+TOf 1+
H HB*T0 bevel cross bolt _' 4
L30MBEF gkt J-01 (AWsx 158
&)
I |130MMsclid wood midfoot for % 4
slat—01 {including M8%15 hammer
head)
4 32 ) 4% 002A 1 (20 15+48+28xm)
] |reinforcemeni bar for side 2
51at002A1 {2015%48+38nm) /
1B (30£30%16mm) LB
% Angle code —{30%30%x16mm)L iype 4
W16 B BRE
L M4x16 slefl tapping screw P 8
IRTT=podc B4
L Wi#4D slef tapping screw Qf’ 4
B Draw | Cc16 | Page RO. Mg {2-1}
£4 T ATool ek A\ BrInstaller
BHRATFHS BY @7
. %*%%ﬂl’-ﬁ’%mﬁm# . Cordless hand drill
Solid wood strip frame supporting Phillips screwdriver
accessories
M4x30H B 22 =20
M4*30 slef tapping W
screw=20

STEP 2.

This hole is opposite the screw
hole (Matching M8%*15 hammer head)
BEAL R IR AL
(P ZEM8* 1 54 1)

(D

@




E2/
figure 2

figure 3

STEP 4:

2-2

FiERT: RNHE RINE & FERLRERAT G L,
FEEINE F R RS L M40 BOREE (Il Frow

Installation tips: The bed side skeleton
reinforcement strips are stuck on the wooden
square brackets at the head of the bed , then
lock M4%40 self-tapping screws on the front and
rear of the reinforcement bar

{as shown in the picture)

STEP b:

¥E:

1. FAM4+30 H BUR 22+ 163 AL B e SE AR R T HFB 4L
2. EARFZHAZRIYATE AM*30 BURL H € .
3. BEIR#E gL AKEH R PR,
Note:

1. Use M4*30 self—tapping screws *16 to fix the solid wood strip row frame according

to the hole position.

2, solid wood strip row frame four corners without M4#%30 self tapping screws fixed.
3, self-tapping screws fixed solid wood strip row skeleton steps optional installation.

Tips for installation: Solid wood strip
skeleton is laid on the bed side skeleton

reinforcement strip {(as shown in the figure)

ZIERRIN . SRERHEEEE

LARMEFERNE S CGnEFR)




	LSC24CC029681PA-BC669-A-2-1-1.5M
	LSC24CC029681PA-BC669-A-2-2-1.5M

